

Name: Bende Olutayo Toluse

Matr. no / 19 / Bsci01 / 020

Solution

$$1) \frac{(3x-1)}{(x-1)(x-2)(x-3)} = \frac{A}{(x-1)} + \frac{B}{(x-2)} + \frac{C}{(x-3)}$$

$$\begin{aligned} 3x-1 &= A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2) \\ &= A(x^2-5x+6) + B(x^2-4x+3) + C(x^2-3x+2) \\ &= Ax^2-5Ax+6A + Bx^2-4Bx+3B + Cx^2-3Cx+2C \end{aligned}$$

$$0 = A+B+C \quad \text{(i)}$$

$$3 = -5A + 4B - 3C \quad \text{(ii)}$$

$$-1 = 6A + 3B + 2C \quad \text{(iii)}$$

from eqn (i)

$$A = -B - C$$

Substitute into eqn (ii) & (iii)

$$3 = -5(-B-C) - 4B - 3C$$

$$-1 = 6(-B-C) + 3B + 2C$$

$$3 = 5B + 5C - 4B - 3C \quad \text{(iv)}$$

$$-1 = -6B - 6C + 3B + 2C \quad \text{(v)}$$

$$3 = B + 2C \quad \text{(vi)}$$

$$-1 = -3B - 4C \quad \text{(vii)}$$

from eqn (vi)

$$3 - 2C = B \quad \text{(viii)}$$

Substitute into eqn (vii)

$$-1 = -3(3-2C) - 4C$$

$$-1 = -9 + 6C - 4C$$

$$8 = 2C$$

$$4 = C$$

Substitute $4=C$ in eqn (viii)

$$3 - 2(4) = B = -5$$

$$\therefore B = -5, C = 4$$

substitute into $A = -B - C$

$$A = -(-5) - 4$$

$$A = 1$$

$$\therefore A = 1, B = -5, C = 4$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{1}{(x-1)} + \frac{-5}{(x-2)} + \frac{4}{(x-3)}$$

$$= \ln(x-1) - 5 \ln(x-2) + 4 \ln(x-3) + C$$

$$2) \int \frac{(x^2+x+1)}{(x+2)(x^2+1)} dx = \frac{A}{(x+2)} + \frac{B}{(x+1)} + \frac{C}{(x+1)} = \frac{A}{(x+2)} + \frac{Bx+C}{x^2+1}$$

$$(x^2+x+1) = A(x+1)(x+1) + Bx + C$$

$$x^2+x+1 = A(x^2+1) + Bx + C(x+2)$$

$$x^2+x+1 = Ax^2 + A + Bx + Cx + 2C$$

$$1 = A + B$$

$$1 = 2B + C$$

$$1 = A + 2C$$

$$x^2+x+1 = A(x^2+1) + Bx + C(x+2)$$

when $x = -2$

$$4 - 2 + 1 = A(4 + 1) + 0$$

$$\frac{3}{5} = A$$

when $x = 0$

$$0 + 0 + 1 = A(0 + 1) + 0 + C(0 + 2)$$

$$1 = A + 2C$$

$$1 = A + 2C$$

$$\frac{1-3}{2} = 1 - A = 2C$$

$$\frac{1-\frac{3}{5}}{1} = 2C$$

$$\frac{2}{5} = C$$

$$= \frac{1}{5} = C$$

For eqn 1 when $x = 1$

$$1 + 1 = A(1+1) + B + C(3)$$

$$3 = 2A + B + C(3)$$

$$3 = 2\left(\frac{3}{5}\right) + B + \frac{1}{5}(3)$$

$$3 - \frac{6}{5} = B + \frac{1}{5}(3)$$

$$\frac{9}{5} = B + \frac{1}{5}B$$

$$\frac{3}{5} = \frac{1}{5}B$$

$$\frac{2}{5} = B$$

$$A, B, C = \frac{3}{5}, \frac{2}{5}, \frac{1}{5}$$

$$\frac{x^2+x+1}{(x+2)(x^2+1)} = \frac{\frac{3}{5}}{x+2} + \frac{\frac{2}{5}x}{x^2+1} + \frac{\frac{1}{5}}{x^2+1}$$

$$\frac{3}{5} \int \frac{dx}{x+2} + \frac{1}{5} \int \frac{2x dx}{x^2+1} + \frac{1}{5} \int \frac{1}{x^2+1} dx$$

$$\begin{aligned} \text{Let } u &= x^2+1 \\ \frac{du}{dx} &= 2x \\ = du &= 2x dx \end{aligned} = \frac{3}{5} \int \frac{dx}{x+2} + \frac{1}{5} \int \frac{du}{u} = \frac{1}{5} \int \frac{du}{u}$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + \frac{1}{5} \tan^{-1}(x) + C$$

$$\Rightarrow \frac{x^2+1}{(x-3)(x-2)^2} = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$= A(x-2)^2 + B(x-3)(x-2) + C(x-3)$$

$$= Ax^2 - 4Ax + 4A + Bx^2 - 5Bx + 6B + Cx - 3C$$

$$① = A + B$$

$$② = -4A - 5B + C$$

$$1 = 4A + 6B - 3C$$

$$1 - A = B$$

Substitute in eqn II & III

$$② = -4A - 5(1-A) + C$$

$$1 = 4A + 6(1-A) + 3C$$

$$0 = -4A - 5 + 5A + C \quad \text{--- (iv)}$$

$$1 = 4A + 6 - 6A + 3C \quad \text{--- (v)}$$

$$5 = A + C \quad \text{(vi)}$$

$$-5 = -2A - 3C \quad \text{(vii)}$$

from eqn (vi)

$$5 - A = C \quad \text{--- (viii)}$$

$$-5 = -2A - 3(5-A)$$

$$-5 = -2A - 15 + 3A$$

$$10 = 15 - 5 = A$$

$$A = 10$$

Substitute $A=10$ in eqn (viii)

$$10 + 2 = 3 \quad 5 - 10 = -5$$

Put B substitute $C=-5, A=10$ in eqn (iv)

$$② = -4(10) - 5(B) + (-5)$$

$$0 = -40 - 5B - 5$$

$$B = -9$$

$$A, B, C = 10, -9, -5$$

$$\frac{x^2-1}{(x-3)(x-2)^2} = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$= \int \frac{10}{x-3} + \int \frac{9}{x-2} + \int \frac{5}{(x-2)^2}$$

$$= 10 \ln|x-3| - 9 \ln|x-2| - \frac{5}{x-2} + C$$

$$10 \ln(x-3) - 9 \ln(x-2) + 5(x-2)^{-1} + C$$

$$4) \int \frac{x^3+x^2+x+1}{x-1} dx$$

using long division

$$\begin{array}{r} x^2+2x+3 \\ x-1 \overline{) x^3+x^2+x+1} \\ \underline{-(x^3+x^2)} \\ 2x^2+x+1 \\ \underline{-(2x^2+2x)} \\ 3x+1 \\ \underline{-(3x+3)} \\ 4 \end{array}$$

$$\therefore \int x^2+2x+3 + \int \frac{4}{x-1}$$

$$\int x^2 + \int 2x + \int 3 + \int \frac{4}{x-1}$$

$$\int \frac{x^3}{3} + \int x^2 + \int 3x +$$

$$\frac{x^3}{3} + x^2 + 3x + 4 \ln|x-1| //$$